Chem 10, Fall 2010 - Nme K EY
Quiz 1 (Chp 2, measurement and dimensional analysis) 20 pt

1. (2 pt) Write the value of the measurement shown in each of these photos. Include the correct number of
significant figures and the uncertainty (the %). -

S.24 0,0 2.%20 L p.o]
2. (2 pt) State the quantity (e.g. volume, mass, time, etc.) expressed by each of the following :
1122 v (502 0.001 s bipnd
0900mL /0 Welie 55.55°C %‘”-éf;mw@

3. (2 pt) How many significant digits are there in each of the foflogving measurements
-~
355 v~ 20.5 om’ ;
500 cm 3 0.015¢ ?‘f

4. (1 pt) Indicate which of the following statements is true and which false.
Y
Cg' " When writing data in your notebook taken from laboratory equipment, the numerical value is rounded off.
Pl
% After doing a calculation using experimental values the answer is rounded off.

5. (1.5 pt) Classify each of the following as an exact (E) or inexact (I) number.

a) e I 25 pounds of sugar b) E 12 dozen apples ¢) %  $24.54

6. (1.5 pt) Round off the number 50,125.09 g to the followmg significant figures (sig figs). Use scaentn‘"c notation -
if needed:

,. D ,\
2sig figs S;@\){ %B 4sigﬁgs§ jS%@ 7 6 sig figs E:S@} 3 age i

7. (1 pt) Convert the following into scientific notation or into decimal notation showing the correct number of

significant figures. iR
” -1
34000000 >4 ¥ 19 0.00000000030  %-F F 1D
TR 8. (2 pt) Carry out the following calculations and round the answers to the correct number of significant figures.
9 b4 -
Y v 1214230+ 12701=_ FF A 2322 x4.00 =
1310 3.200 x 6.7

ﬁi
i (5.405 x 10%) + (3.09x 10> = 4.11 x 107 =
- (3.003 x 10 x (9.8760 x 107)

#ﬂu




9. (9 pt) The fastest swimming event is the 50 m freestyle. The world record is held by Australian Eamon Sullivan
with a time of 21.28 sec. Calculate how fast Eamon is swimming in miles per hour.
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Length
&7 it repteri)
1 krrn= 062137 mi
1 i = RZ280 ft
= 16043 km
1m=1.0935yd
1in, = 254 e {exactly)
1 e = 0.39370 in,
12=10""m
Mass
o szt Libgrminig)
1kg=22046Th
1h=45359%
=1drz

1 armu = 16605402 x 107

Temperature
5 st Redvane 150
0K = —273.15°C
= —459.67°F
K = C + 273.15
°C =§ (°F — 329
oF =% o + 320

B

Enesmy {derived)
57 srut forade )
1] =1 kg-m/
1] = 0.2390 cal
=1Cx1V
1cal=4184]
1evV=1602x 1077

Pressure (derived)
5wty a5
1Pa=1N/zf
=1kg/mrs
1Tatm=101,326Ta
=760 torr
= 14,70 I/ i
1bar= ’.U:Is Pa

Volume {derived) ,
57 st crbit e (i)
1L =10 °p®
=1dm
=10 cmﬁ
=1.0567 gt
1gal=dqgt
=3.7554 L
1 t:m3 =1 ml
1in’ =164 exd




